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Section A Vsaq

1. Find the inverse of the real function of .

Watch Video Solution

f(x) = ax + b, a ≠ 0

2. Find the domain of the real function 

Watch Video Solution

f(x) = √4x − x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IRAWZeqEhscF
https://dl.doubtnut.com/l/_t8CLkto7QiVF


3. If  then find the value of k .

Watch Video Solution

A = [
 2 4

−1 k
] and A2 = [

0 0

0 0
]

4. Find the rank of 

Watch Video Solution

⎡
⎢
⎣

1 1 1

1 1 1

1 1 1

⎤
⎥
⎦

5. Find the vector equation of the line passing through the points

.

Watch Video Solution

2 ī + j̄ + 3k̄ and − 4 ī + 3j̄ − k̄

6. IF  are collinear vectors then find 

Watch Video Solution

ā = 2 ī + 5j̄ + k̄, b̄ = 4 ī + mj̄ + nk̄

m + n

https://dl.doubtnut.com/l/_dMwGQRxyPwZ3
https://dl.doubtnut.com/l/_3E1r9riZdMkt
https://dl.doubtnut.com/l/_6QW5I5h8gtQ7
https://dl.doubtnut.com/l/_3z0A6jnxQFIQ


7. If , then find 

and unit vector perpendicular to both 

Watch Video Solution

ā = 2 ī − 3j̄ + 5k̄, b̄ = − ī + 4j̄ + 2k̄ (ā + b̄) × (ā − b̄)

ā + b̄ and ā − b̄

8. Prove that 

Watch Video Solution

= cot 36∘cos 9∘ + sin 9∘

cos 9∘ − sin 9∘

9. Prove that 

Watch Video Solution

sin 50∘ − sin 70∘ + sin 10∘ = 0

10. Prove that 

Watch Video Solution

(coshx + sinhx)
n

= cosh(nx) + sinh(nx)

https://dl.doubtnut.com/l/_3z0A6jnxQFIQ
https://dl.doubtnut.com/l/_B1Lab8t2e6rg
https://dl.doubtnut.com/l/_7dWr62uWsXIx
https://dl.doubtnut.com/l/_joYZQflDOdyC
https://dl.doubtnut.com/l/_4FEcGu1chT2N


Section B Saqs

1. If A is a non-singular matrix then prove that .

Watch Video Solution

A− 1 =
adjA

|A|

2. Prove that the following four points are coplanar. 

i)  


ii) 

are non-coplanar vectors) 

iii) 

are non-coplanar vectors)

Watch Video Solution

4 ī + 5j̄ + k̄, − j̄ − k̄, 3 ī + 9j̄ + 4k̄, − 4 ī + 4j̄ + 4k̄

− ā + 4b̄ − 3c̄, 3ā + 2b̄ − 5c̄, − 3ā + 8b̄ − 5c̄, − 3ā + 2b̄ + c̄  (ā, b̄, c̄

6ā + 2b̄ − c̄, 2ā − b̄ + 3c̄, − ā + 2b̄ − 4c̄, − 12ā − b̄ − 3c̄  (ā, b̄, c̄

3. For any two vectors  , show that ā and b̄

(1 + |ā|2)(1 + ∣∣b̄∣∣
2
) = ∣∣1 − ā. b̄∣∣

2
+ ∣∣ā + b̄ + ā × b̄∣∣

2

https://dl.doubtnut.com/l/_hCDPb3TZP1dx
https://dl.doubtnut.com/l/_AiX0aoiZmUYm
https://dl.doubtnut.com/l/_kXurV35CZfXb


Watch Video Solution

4. Show that .

Watch Video Solution

− = 4
1

sin 10∘

√3

cos 10∘

5. Solve 

Watch Video Solution

sinx + √3 cos x = √2

6. Prove that 

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

2

1

5

1

8

π

4

7. Prove that 

Watch Video Solution

cot A + cot B + cot C =
a2 + b2 + c2

4Δ

https://dl.doubtnut.com/l/_kXurV35CZfXb
https://dl.doubtnut.com/l/_OiGeVefZ8Y3G
https://dl.doubtnut.com/l/_q8A1gJUzJaXh
https://dl.doubtnut.com/l/_5ZyKYQeQo5gJ
https://dl.doubtnut.com/l/_Qib5BwLodkb3


Section C Laqs

1. If  is a function and  are identify functions on A,B

respectively then prove that  of

Watch Video Solution

f :A → B IA, IB

foIA = f = IB

2. By Mathematical Induction , show that  is divisible by 64

for all positive Integer n .

Watch Video Solution

49n + 16n − 1

3. Show that

Watch Video Solution

∣
∣
∣
∣

a b c

b c a

c a b

∣
∣

∣
∣

2

=

∣
∣

∣

∣
∣

2bc − a2 c2 b2

c2 2ac − b2 a2

b2 a2 2ab − c2

∣
∣

∣

∣
∣

= (a3 + b3 + c3 − 3abc)
2

https://dl.doubtnut.com/l/_PQHhOEBiIpmC
https://dl.doubtnut.com/l/_EviE3yyslx2X
https://dl.doubtnut.com/l/_SEGOOf7OmnGm


4. By using Cramer's rule solve

.

Watch Video Solution

2x − y + 3z = 9, − x + 2y + z = 4, 3x + y − 4z = 0

5. If

Watch Video Solution

ā = ī − 2j̄ + 3k̄, b̄ = 2 ī + j̄ + k̄, c̄ = ī + j̄ + 2k̄  then find (ā × b̄) × c̄|

6. If A+B+C = 2S , then 

P.T 

Watch Video Solution

cos(S − A) + cos(S − B) + cos(S − C) + cos S = 4 cos. cos. cos.
A

2
B

2

C

2

https://dl.doubtnut.com/l/_gUXtpPDRy6Km
https://dl.doubtnut.com/l/_2ejwPW0XltgB
https://dl.doubtnut.com/l/_XN3sv0VZ9QnR


7. If  are altitudes of a  then show that 

Watch Video Solution

p1, p2, p3 ΔABC

+ + =
1

p1

1

p2

1

p3

1

r

8. If  are altitudes of a  then show that 

Watch Video Solution

p1, p2, p3 ΔABC

P1P2P3 = =
(abc)

2

8R3

8Δ3

abc

https://dl.doubtnut.com/l/_cIrvlaaIQZam
https://dl.doubtnut.com/l/_4PibOAh4KmYX

